
Order of Math Operations with Numbers -100 to 100 (E-1)
CHALLENGE

Name:

Time: Score: /

225)

(0÷ (−5)÷ 51)÷ 6× 10÷ 60× 39÷ (((2÷ 1)× (−24))) =

226)

(((50 + (−60) + 3))) + 0÷ (−60)÷ (32÷ (−4))÷ (70÷ (−10))× 47 =

227)

(40÷ (−8))×(((0× (−7))× (−98))÷ (−6))×(((0× 2)÷ (−21)))÷96 =

228)

(((10− (−73) + (−86))))×(((8× 0)÷ (−61)))÷(−9)÷(−10)÷6×(−5) =

229)

(4× 0)× (−2)− (((0÷ (−8))× (−2) 1))÷ 21× 2× (−95)− (−10) =

230)

(79− 63− 6)× (((6÷ (−1)− (−6)))) + ((65− 62)× (−10)) + (−15) =

231)

8÷ (−1) + ((55 + (−91)) + 18)÷ 54÷ 9÷ 9× 0÷ (−64) =

232)

(((29 + 19)÷ (−12)))× (((1× 0)÷ (−1)))÷ 66× (−38)÷ (−12)÷ 71 =
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